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Cheddar Cheese is an example of :

(A) Natural food
(B) Fermented food
(C) Synthetic food

(D) Non-fermented food

Transgenics can be developed :

(A) by genetic manipulation within same

species

(B) by gene transfer from one species to
the other

(C) naturally without genetic manipulation
(D) None of the above

The toughest energy source to tap is :
(A) Tidal Energy

(B) Geothermal Energy

(C) Wind Energy

(D) Coal Energy

Fossil Fuels are :

(A) Non-renewable

(B) Derived from fossils

(C) Easily tapped

(D) All of the above

(3)

6.

1.

Most expensive constituent of animal cell

culture medium is :
(A) NaCl

(B) Water

(C) Serum

(D) FeCl,

Methanogens are so called because they
produce :

(A) Ethane

(B) Methane

(C) Propane

(D) Hexane

In Bt cotton, “Bt” indicates :
(A) An antibiotic

(B) A growth factor

(C) Extracellular growth
(D) Bacterial toxin

Generation of wind energy is opposed by

people because :

(A) windmills create noise pollution
(B) of land use conflict

(C) it is expensive

(D) only (A) and (B) are correct
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10.

.

12.

13.
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BOD is a measure of :
A) Dissolved CO,
B) Dissolved CO
C) Dissolved O,
D) Dissolved H,

—_— o~ o~

Secondary treatment of waste water

substantially reduces :

A) Large objects and trash

B) Dissolved organic content
)
)

C) Fat and grease

_ =~ —~

D) Dissolved inorganic solid

Number of metrics in stream condition Index
are :

A) Six

B) Fifteen
C) Ten
D) Eight

Which of the following is correctly
matched :

(A) Earthworm — Metals

(
(
(
(

(B) Lichens — Air pollution
(C) Honeybees — TNT
(D) Mosses — AMD

Which of the following is ex-situ
bioremediation ?

A) Bioventing
B) Biosparging
C) Composting
D)

—_~ o~ o~

Stimulation

(4)

14.

15.

16.

17.

18.

Bioassessment :

(A) Characterizes overall condition of
watersheds

(B) Identifies potential pollutants

(C) Evaluates effect of management
programs

(D) All of the above

Pretreatment of waste water is essential if :

(A) Large solid objects are present

(B) Mostly dissolved solids are present

(C) Small solid objects are present

(D) Solids do not damage treatment
machinery

Mycorrhizae is an association between :

(A) Plant roots and fungi

(B) Algae and fungi

(C) Bacteria and fungi

(D) Algae and bacteria

Domestic sewage can be treated on small

scale in :

(A) Septic tank

(B) Cesspool

(C) Both (A) and (B)
(D) None of the above
Which of the following is correctly

matched ?

(A) Phytoremediation — Uses plants

(B) Bioventing — Anaerobic biodegradation

(C) Biostimulation — Depleting nutrients for
indigenous microbes

(D) Land farming — Bioremediation of heavy
metal polluted site



19.

20.

21.

22.

Attributes of a good industrial strain is/are :  23.

(1) High yielding

(2) Genetically stable

(3) Produces undesirable products
(A) Only (1) and (2)

(B) Only (1) and (3)

24.

(C) Only (2) and (3)

(D) None of the above

Algal biomass cannot be achieved in :
(A) Open ponds

(B) Anaerobic digesters

(C) Photobioreactor

25.

(D) Both open pond and photobioreactor
Methanogens are :

(A) Algae

(B) Bacteria

(C) Fungi

26.

(D) Insect

Gasohol is a mixture of :
(A) Petrol and ethanol
(B) Petrol and methanol
(C) Diesel and ethanol

(D) Diesel and methanol

KNP/BBT-304(BIOTECH.)-C/195 (5)

Critical factor for algal biomass production

IS :

(A) Large space

(B) Sunlight

(C) Specialized production vessel
(D) Presence of other microbes

Which of these is not fermented dairy
product ?

(A) Yoghurt

(B) Kefir

(C) Tofu

(D) Cheese

Biomineralisation is formation of :

(A) Carbonates, phosphates and nitrates
(B) Carbonates, phosphates and silicates
(C) Only phosphates and nitrates

(D) Only silicates and nitrates

Bioaccumulation is different from bio-

magnification in :

(A) Transfer from lower trophic level to
higher level

(B) Transfer from higher to lower trophic level
(C) Accumulation in an individual
(D) Accumulation in community

[PTO]



27.

28.

29.

30.
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What are the two forms of alcohol included
in biofuels ?

(A) Methanol and Propanol
(B) Ethanol and Propanol
(C) Ethanol and Methanol
(D) None of the above

Which is the largest source of biomass
energy ?

(A) Animal waste

(B) Industrial waste

(C) Fibrous waste of paper industry
(D) Fibrous waste of sugar industry

Which of the following does not contribute
to success of industrial fermentation ?

(A) Strain improvement

(B) Characterization of strains

(C) Mass production of chemicals
(D) Uncontrolled bioprocess

Optimum growth of acidophilic producer
strains occur at :

(A) High pH
(B) Low pH
(C) Neutral pH

(D) pH is not important

(6)

31.

32.

33.

34.

World Environment Day is celebrated on :
(A) June 10

(B) June 5

(C) July 5

(D) October 20

A Dbioreactor converts :

(A) Substrate to product in specific time
(B) Product to substrate in specific time
(C) Substrate to product in no specific time
(D) Product to substrate in no specific time

Which is not essential for growth of industrial
microbes ?

(A) Carbohydrates
(B) Glycerol

(C) Sulphuric acid
(D) Fats

Match the following :

Source Nutrient
1.|Glucose (i) |Nitrogen
2 . |Vitamins (i) | Trace elements
3 . [Nitrate (iii) |Carbohydrate
4 .|Mineral salts |(iv) |Growth factors

(A) (iv) (i) (i) (i)
(B) (iv) (i) (i) (i
(C) (i) (iv) (iii) (i)
(D) i) (iv) (i) (i)



35.

36.

37.

38.
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An ideal microbe to be used as biofertilizer
should be :

(A) Free living

(B) Symbiotic

(C) Parasitic

(D) Either (A) or (B)

Solar energy can be trapped by using :
(A) Solar panel

(B) Windmills

(C) Energy plantations

(D) Both (A) and (C)

Coal mining causes :

(A) Acid mine drainage

(B) Seam fires

(C) Destruction of landscape
(D) All of the above

Cellulosic Biomass can be converted into
energy by :
(A) Saccharification — Hydrolysis —

Acidogenesis — Methanogenesis

(B) Hydrolysis — Acidogenesis —
Methanogenesis

(C) Saccharification — Acidogenesis —
Methanogenesis

(D) Saccharification — Acidogenesis —
Hydrolysis

(7)

39.

40.

41.

42.

Biogas is produced from organic matter in :

(A) Absence of oxygen
(B) Presence of oxygen
(C) Presence of argon
(D) Presence of xenon

Enzymes responsible for H, production
are :

(A) Hydrogenase and Esterase
(B) Nitrogenase and Aldolase

(C) Hydrogenase and Nitrogenase
(D) Esterase and Aldolase
Biofuels lead to :

(A) Air pollution

(B) Less carbon emission

(C) Soail pollution

(D) Water pollution

Continuous fermentation is different from
Batch fermentation in :

(A) Nutrients are added continuously
(B) Nutrientare added as and when needed
(C) Nutrient are added only initially

(D) Nutrients are never added

[PTO]



43. Biological Components of a biosensor

include :

(A) Enzyme

(B) Antibody

(C) Cell

(D) Anyone of (A) (B) or (C)
44, Xenobiotic is a :

(A) Component of atmosphere

(B) Component of human body

(C) Foreign component of atmosphere

(D) Component of plants
45. In-situ bio-remediation occurs :
(A) in a bioreactor

(B) at the site of contamination

(C) away from the site of contamination

(D) in a microbial cell
46. Which of the following is odd ?
(A) Composting
(B) Aerated Lagoons
(C) Low-Shear air-lift reactor

(D) Fluidized — bed soil reactor

KNP/BBT-304(BIOTECH.)-C/195

(8)

47.

48.

49.

50.

Lignocellulosic biomass contains :
(A) Cellulose

(B) Hemicellulose

(C) Lignin

(D) All of the above

Which of the following is a disadvantage of
biofuels ?

(A) Environment friendly
(B) Cost effective

(C) Encroachment upon natural habitat of

plants and animals
(D) Less dependence on fossil fuels
Continuous culture can be established as :
(A) Turbidostat
(B) Chemostat
(C) Biostat
(D) All of the above

Which of the following is correctly
matched ?

(A) Phosphate Solubilizing bacteria —
Thiobacillus

(B) Symbiotic Nitrogen fixer — Azotobacter
(C) Asymbiotic Nitrogen fixer — Rhizobium

(D) Symbiotic Nitrogen fixer — Azolla
bacteria



51.

52.

53.

54.

95.
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Temperature in a fermenter :

1. Rises due to exothermic metabolic
activities

2. Temperature rise is controlled by
cooling water jackets

(A) Statement (2) follows statement (1)

(B)

(C) No relation between statement (1) and (2)

(D) None of the above

The aim of sewage treatment is control of :

(A) Pest

(B) Pollution

(C) Bioprocess

Statement (2) precedes statement (1)

(D) Effluent production

Primary Treatment of sewage involves :
(A) Biological processes

(B) Chemical processes

(C) Physical processes

(D) All of the above

Which of the following is not true for
vermicomposting ?

(A) Improves soil aeration

(B) Improves water holding capacity

(C) Helps in root and plant growth

(D) Improves greenhouse gas mission
The only similarity in composting and
vermicomposting is :

(A) Species of organisms involved

(B) Type of substrate

(C) Conditions of composting

(D) Speed of composting

(9)

56.

.

98.

99.

60.

Major contributor to climate change is :
(A) Fossil fuel combustion

(B) Biogas combustion

(C) Nuclear energy

(D) Solar energy

Sewage treatment leads to :

(A) Increase of BOD

(B) Decrease of BOD

(C) No effect on BOD

(D) None of the above

Petroleum includes :

(A) Only crude oil

(B) Only solid hydrocarbons

(C) Only liquid and gaseous hydrocarbons
(D) All of the above

In-situ bioremediation ensures :

(A) Quick degradation of pollutant

(B) Control of degradation process
(C) Maximum exposure to public

(D) Minimum disruption of polluted site
bioassessment

Common process

includes :
(A) Only planning, analysis and synthesis
(B) Only problem resolution
(C) Only initiation, decision and synthesis
(D) All of the above

[PTO.]



61.

62.

63.

64.
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The process of coal formation is : 69.

(A) Carbonization
(B) Esterification

(C) Hydrogenation
(D) Methenogenesis

An ecofriendly substitute to coal as energy

source is :

(A) Petroleum

(B) Hydroelectricity
(C) Solar energy

(D) Only (B) and (C) 6.

Match the following :

Source
.|Sun (
.[Water  |(
. {Uranium |(
.|Coal (

Energy

i) [Nuclear

i) |Thermal

i) [Solar

iv) [Hydroelectricity

Al W N —

(1@ 6 @
(A) (i) (iv) (i) (i)
(B) () (i) () (i)
(C) (i) (iv) () (i
©) @) () (i) (iv)
Which of the following causes air pollution ?
(A) Coal combustion
(B) Solar energy
(C) Nuclear energy
(D) Wind energy

(10)

Match the following :

.|Insecticides |(i) |Nematodes

.|Fungicides |(ii) |Rodents

1 (
2 (
3 .|Nematicides |(iii) |Insects
4 (

.|Rodenticides |(iv) |Fungus

67.

(1) @ @) @)
(A) (i) (iv) () (i)
(B) (iv) i) (i) (i
C) @) (i) (i) (iv)
(D) (i) (iv) (i) ()
Biogas is a mixture of :
(A) Methane + Carbon dioxide
(B) Methane + Carbon monoxide
(C) Hydrogen sulphide + Carbon monoxide
(D) Carbon dioxide + Carbon monoxide
Which is not an effect of coal combustion ?
(A) Greenhouse gas emission
(B) Acid rain
(C) Ozone depletion
(D) Deforestation
Protein engineering allows :
(A) Substitution of amino acids
(B) Deletion of amino acids
(C) Insertion of unnatural amino acids

(D) All of the above



69.

70.

7.

72.

KNP/BBT-304(BIOTECH.)-C/195

is not a methanogen. 73.

(A) Methanococcus burtonii
(B) Methanobacterium bryanti
(C) Ficus religiosa

(D) Methanosarcina barkeri

Which one of the following is not a petroleum

crop ?

(A) Hevea brasiliensis

(B) Parthenium argentatum

(C) Oryza sativa

(D) Botryococcus braunii

Which among the following is fool's gold ?
(A) Iron Sulphate

(B) Iron Sulphide

(C) Copper Sulphate

(D) Copper Sulphide

76.

Exxon Valdez oil spill occurred in :
(A) 1990
(B) 1989
(C) 1985

(D) 1986

(11)

74.

Coal miners are affected by :
(A) Crohn’s Disease

(B) Silicosis

(C) Both (A) and (B)

(D) None of the above

Which one of the following is not a
greenhouse gas ?

(A) Methane

(B) Nitrous oxide

(C) Ozone

(D) Hydrogen

CFC stands for :

(A) Chlorofluorine Carbide
(B) Carbon fluorocarbide
(C) Chlorofluoro carbons
(D) None of the above

Which is not a demerit of Green

Revolution ?

(A) Not suitable for poor farmer
(B) Decreased soil fertility

(C) Higher yield crops

(D) Reduces water level

[PTO]
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78.

79.

80.
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Petroleum crops are used as : 81.

(A) Biopesticide

(B) Food crops

(C) Raw material for fuel production
(D) Biofertilizer

Bacillus thuringiensis is a :

(A) Natural microbe

(B) Recombinant clone

82.

(C) Atransgenic

(D) Amutant

Chimeras are hybrids produced between :
(A) Closely related species

(B) Distantly related species

83.

(C) Closely unrelated species
(D) Distantly unrelated species

Argument(s) in favour of transgenic plants

iS :

(A) Changes evolutionary pattern 84

(B) Increased crop productivity

(C) Development of highly resistant super
weeds

(D) Transfer of genes from transgenic to

natural plants

(12)

The correct order of stages of coal formation

is :

(A) Peat — lignite — bituminous —
anthracite

(B) Peat — bituminous — lignite —
anthracite

(C) Peat — anthracite — lignite —

bituminous

(D) Anthracite — bituminous — lignite —
peat

Phosphate solubilizing bacteria convert non-
available phosphate to available :

(A) Inorganic phosphate
(B) Organic phosphate
(C) Both (A) and (B)
(D) Phosphorus
is not a biofertilizer.
(A) Nostoc
(B) Azospirillum
(C) Azolla-Anabena
(D) Bacillus thuringiensis

Which of the following is not plant derived
biopesticide ?

(A) Alkaloids
(B) Terpenoids
(C) Phenolics

(D) Pheromones



85.

86.

87.

88.
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Production of transgenics can be done by :
(A) Protoplast fusion

(B) Micropropagation

(C) Cloning

(D) Recombinant DNA technology

Which of the following is not a biofuel ?
(A) Hydrogen

(B) Biodiesel

(C) Biogas

(D) Petrol

Biomass can be converted to biogas by :
(A) Fermentation

(B) Anaerobic digestion

(C) Pyrolysis
(D) Partial oxidation

Pesticide biodegradation transforms a
pesticide into :

(A) Cancer causing substance
(B) Environment friendly substance
(C) Highly toxic substance

(D) Highly reactive substance

89.

90.

9.

92.

(13)

Let P=Physical process, B=Biological
process and C=Chemical process, then
correct order of sewage treatment strategy
is :

(A) PBC

(B) BCP

(C) PCB

(D) BPC

Bioassessment measures and evaluates

impact of :

(A) Plants on environment

(B) Human activities on environment
(C) Landslides on human beings
(D) Earthquakes on human beings

Environmental Monitoring is consequence
of :

(A) Planning

(B) Public Litigation

(C) Government policies
(D) All of the above

On a 10-point scale, from poor to

exceptional, a site is graded as ‘impaired’.
What does this imply ?

(A) Site can be partially restored
(B) Site is well preserved
(C) Site has been restored to natural state

(D) Site cannot be restored

[PTO]



93. Growth kinetics in Batch Culture shows : 97.
(A) Only lag and stationary phase
(B) Only log and lag phase
(C) Only stationary phase
(D) Log, lag and stationary phase
94. Match the following :
1. |Gas Biosensor (i) |Pesticide detection 9.
2 . |Immunoassay Biosensor |(ii) |SO, detection
3. [BOD biosensor (iii) | Glucose
4 . |Blood glucose biosensor [(iv) |Organic Pollution
(1) @ @) @
(A) (@) (i) (i) (iv)
(B) (i) (ii) (iv) (i)
© (i) () ) (i %
(©) (i) ) (i) (iv)
95. Which of the following is correctly
matched ?
(A) Beer - Grapes
(B) Tempe — Groundnut
(C) Yoghurt — Milk
(D) Wine — Barley 100.
96. GMO stands for :
(A) Genetically mobilized organisms
(B) Genetically modified organisms
(C) Genetically motivated organisms
(D) Genetically matched organisms
KNP/BBT-304(BIOTECH.)-C/195 (14)

Which is not true about solar energy ?
(A) Abundant

(B) Free of cost

(C) Renewable energy

(D) Cannot be stored

Nuclear Energy can be obtained by :
(A) Nuclear fission only

(B) Nuclear fusion only

(C) None of the above

(D) By nuclear fission and fusion

Solid Substrate Fermentation takes place

in presence of :

(A) 100% moisture

(B) 50-100% moisture

(C) 0-10% moisture

(D) 20-50% moisture

Which of the following is a biopesticide ?
(A) Rhizobium

(B) Azotobactor

(C) Spirillum

(D) Trichoderma
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